
Extract 3. Jääkausi (‘ice age’) 
 
01  JEN     it wasn’t actually a cave, 
02          it was just a very big rock, 
03          (.) 
04  TER     +mhm. 
            +gaze at JEN--> 
05  JEN     by- by one lake,  
06          (.) 
07  JEN     u:hm (.) *and the paintings ≈were ve≈ry high,≈ 
                     *gaze at MAR--> 
                                        ≈.......≈R arm up≈ 
08          ≈be≈cause the w≈ater used to be: ≈ 
            ≈..≈lowers-----≈raises-----------≈ 
09  TER     [mhm  ] 
10  JEN     [≈many] ≈meters* higher before,* 
             ≈raises≈holds up-->  
                        -->*gaze at TER----* 
11  TER     *mm. 
    jen     *gaze at MAR--> 
12  JEN     ∆because (.) well- 
    mar     ∆gaze at JEN-->  
13          (1.0) 
14  JEN  -> there were- (1.3) because ¤of the-*    
                                     -->* 
                                ¤frowns--> 
15          *(.)  
            *gaze away--> 
16  JEN  -> what’s the word,*¤ 
                         -->* 
                          -->¤ 
17       -> *¤jääkausi?#* ¤ 
              ice age 
            *gaze at MAR* 
             ¤raises brows¤ 
    fig                #9 
18       -> *(0.4)    
    jen     *gaze at TER-->  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                
        Figure 9 
 
19  TER  -> ●mhm.● 
            ●nods● 
20  MAR  -> ▪m*+hm.+ 
    mar     ▪nods--> 
    jen     ->*gaze at MAR--> 
    ter     -->+...+gaze at MAR-->    
21  TER  -> †ic∆e #ag[e.†  
22  JEN  ->          [ic†e∆ a+ge,  
    ter     †LH twd MAR-† -->+gaze at JEN-->> 
    mar     -->∆gaze TER--∆gaze at JEN-->>    
    fig           #10 
23       -> (0.8)▪≈(0.2)# 
    mar       -->▪ 
    jen        -->≈releases slightly--> 
    fig                 #11 
                          
 
 
 
 
 
 
 
 
 
 
 
 
 
     Figure 10                          Figure 11 
 
24  JEN     th≈e- (0.5) when the ice melted≈  
            ->≈raises & holds up-----------≈ 
25          ≈(0.7)             ≈ 
            ≈lowers then raises≈ 
26  JEN     ≈the water was very high≈ and  
            ≈holds arm up-----------≈lowers 4x--> 
27          then it was s- going d*o≈wn.≈ 
                               -->*// 
                                 -->≈,,,≈// 
28          (0.8) 
29  JEN     but yeah. you can find those. 
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